Announcements — Lecture VI — Thursday, Sep 22"

1. First Lab — Saturday, September 24t ... 1-4pm ... ISB 155/160 (A-E)
a) Read the Lab Policy prior to the this /ab.

b) Print lab prior to coming to lab -- use the ‘Print Friendly Version’
located on the top left hand side of the page — this is the version
that contains the ‘Data Sheet’ that you will hand in upon
completing the /ab.

c) Review the sample quiz on class web site — a short 6 question
quiz will be administered at the start of the lab — questions taken
from the sample questions.

2. @ * iClicker:

FEADY

- Choose any letter: A-E
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4.3 What Is a Mole and How Do We Use It to Calculate Mass Relationships.
Example 2

How many MOLES of fluorine are present in 3.09x10?2 molecules of BF,?

N = 6.023x1022 mol-1

3.09 X0 mecales BFs\ \ wol _ 0.053m® BF; 02300 wd = 6.013M0°

|6 oxane™ ks | ol

0.05\3‘“@3&:3\ 3 F . o\sumdF BF; - \Q+2F
1 | BFa

3
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5.3 What Is a Mole and How Do We Use It to Calculate Mass Relationships.
Example 3

How many MOLES of water are present in 56.41 grams of this compound ?

0:leo E
H: 1.0 ¢s a)01 b)0.2 ¢)0.3/ d)0.4 e)Help

S.4lq Wa0 = ? md W0

Hao: 2(W +0
2(10) +160 = 18.02qmd” . 1802
\ me!

sugHo| 1nd . 0.3 nd W0
Il%,oﬁg
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5.3 What Is a Mole and How Do We Use It to Calculate Mass Relationships.

Example 4

How many Grams of ethanol (CH;CH,OH) are present in 0.61 moles of this
compound ?

C:13.0|
| H: 10\
ce a)46 b)96 c)28/ d)Help 0:16.00
CHaCMaon = 2(c) ve(M) + O
20200 ¥6(1.00)* 16.00 = 46.0% g,mo‘?" ... 146084
\m&

0.6! md CH:[\'\:.O“} 46.08g a8.1 3 CHaCW1ON
| ool
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4.4 How Do We Balance Chemical Equations?
Example 1

Balance the following chemical equation:

n
A Fe(s)+ 32 CO;(qg)

A _Fez0s(s)+ 2 C(s)

Reactants | _/ | Products | /o
Fe 2 2 4 4 4 Fe '\ 2 2 4 4
O 33 6 6 &6 O 2 2 6 6 6

c v v o3 c Vv Vi3 3 3

2 Fea03(9) + 3Cs) = 4 Fe(s) *+ 3C02(9)
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4.4 How Do We Balance Chemical Equations?
Example 2

Balance the following chemical equation:

_ CoHe(g)+ T 02(q) = 2.C0s(g)+ 2 H:0(l)
Reactants v/ Products /o
C 2.2 2 2 L ERE
H 6 6 G 6 H 2 % 6 6
O 2 % 2 @7 O 3 5 7 7

Cals (9 +@3&@ = 200a(g + 3H0M
A

2 Cale(@ + 70a() = 4 COag) + 610
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4.4 How Do We Balance Chemical Equations?

& a1 d)4
Example 3 gq ; b) 2 e)5
cle c)3
Balance the following chemical equation:
__AgNOs(aq)+ __K:CrO4(aq) = __Ag2CrO4(s)+ __KNO3(aq)

? Whot is 'ﬁ:\ams S0 acma \
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4.4 How Do We Balance Chemical Equations? .
Example 3 - ) 1/ W
sl b)2 e)5
e'e )3

Balance the following chemical equation:

A _AgNO3(aq)+ __KzCrOq(aq) ?_AggCrO4(s)+ 2 KNOs3(aq)

: Reactants v/ Products V4
Ag 1 2 2 Ag 2 2 2
NO; 1 2 2 NO; v | 2
K X2 K \ )2
CI"Oq _ | | | \ CI"O4 . | | |

A AgNOs(ag) + HaCrOyleg) = gy CrOut9 + 2 KNOs(ay)

’Po‘\{okmm'c \ns .. N\\em Rmmmg m\'uc\' \'Reu\' as a 5\'»%92 ein\'\].
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